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| Lines and Angles + Logical Venn Diagram + Missing Series By Alok Sir for SSC |

An angle is equal to one-third of its supplement.

Find its measure :

T& HIVT A0 TYIH HT 1/3 § FHHT TH F0 S

(a) 45° (b) 50° (c) 55° (d) none

Which of the following statements are true :

= o § &H-9 &9 &t 2

(A) Angles forming a linear pair are supplementary.
T AR ST R0 G B 2

(B) If two adjacent angles are equal, then measures of
each angle will only be 90°.
A TAF T TE 90° BM

(C) Angles forming a linear pair can both be acute
angles.
T g 99 a1t S R0 8 SR

(D) If angles forming a linear pair are euqal, then each
of these angles is of measure 90°

I TET I I Tl ST I G & A T Bl T
90° B
(a) Only a (b)a,band d
(c)candd (d)aandd
If one angle of a linear pair is acute, then its
other angle will be :
e It T HT T HIF § @ AN HI0T FAT G
(a) acute (b) obtuse
(c) right angle (d) none of these
In the figure, OP 1. OA and OQ | OB. Find /POQ
if A POQ if ~ AOB = 20°
& g amwfa, OP L 0A 3R 0Q1 OB. /POQ &1 W
@ & afe LAOB = 20°

(a) 20° (b) 30° (c) 40° (d) none

In the figure /PRQ = ZSRT. If ~QPR = 100° and

ZQRS = 80°, Find ZPQR

& ¥ aefa & ~PRQ - /SRT. € /QPR =100° &

ZQRS =80°, /PQR =?
Q

S
e
» T
(a) 20° (b) 30° (c) 40° (d) 60°

6.

10.

AB is a straight line. C is a point whose distance
from AB is 3 cm. What is the number of points
which are at a distance of 1 cm from AB and 5 cm
from C?

AB U Wit 3@ 81 C U fog & et AB O 3 it 81
AB ¥ 1 9 @ a C § 5 94 @ fargant &1 " &=
gt

() 1 (b) 2 ()3 (d) 4

Three straight lines X, Y and Z are parallel and
the angles are as shown in the figure above.
What is Z AFB equal to?

9 @ X, Y, Z 9EE § R aneRfa § @iur geia
TR LAFB=?

% D E
8 o
125°
Y S _s30e
% °
—
(a) 20° (b) 15° (c) 30° (d) 10°

Let AB and AC be two rays intersecting at A. If
D, E be the points lying on AB, AC respectively
and P be the point such that P divides the line
DE such that PD : PE = AD : AE. Then, what ist he
locus of the point P?
Ut AB 9 AC €t 3@ & St A W fuerdt 81 af D, E
@1 AB, AC R fag ?1 fig P @1 DE W 30 7&K &
% PD: PE = AD : AE 98 P &1 fag U9 &1 grmI
(a) The angle bisector of angle A

T A T R fGAISR
(b) The angle trisector of angle A

HI0T A FT HIT fgerew
(c) The perpendicular bisector of angle A

HIT A T T fgATSR
(d) None of the above (38 & &I 7T&l)

The length of a line segment AB is 2 unit. It is
divided into two parts at the point C such that
AC?2 = AB x CB. What is the length of CB?

forelt 3@T AB &1 &@1E 2 §1 98 C fog o & 9Fh # 39
YR dict 8 T AC2 = AB x CB.CB %! &@aTg qid &l
(a) 3+ /5 units (b) 3 +/5 units

(¢) 2—+/5 units (d) /3 units

In the figure given below, what is the value of x ?
x T WH &1 ERII
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2 SSC TEST
B C ; : A B
D E :
2% 120° ! b
X i X O
A ; 30°
(a) 30° (b) 40° (c) 45° (d) 60° ! € D. ‘C ?
11. What is the value of x in the figure given above? |
& TE afa W x T W =T ERM i (a) 290° (b) 300° (c) 280° (d) 285°
A s B i |Direction (16-21) : In each of the following question, three
& i | groups of objects are given. You have to find the diagram
COb i which correctly representes all the three category of groups.
= | fordfer - o vk e & et e B TRqelt  weE R T B
| SIqB! e G I pRTifees SR o B ¥ Vb GlIeN Bl T
(@) b-a-c ®)b-a+e | e & oitfip v o 23t T2 ftert @il b ey b e Bt e
©b+a-c (II-(a+b-0) | BB i B &
12. In the given diagram AB | | GH | | DE and GF | | i — -
BD | | HI, /ZFGC = 80°. Find the value of ZCHI: | e () Q) (Q)
& ¢ empl ¥ AB|| GH||DE & GF||BD||HIL | @ (OO (b) (©) -
ZFGC = 80°. @8 ~CHI &1 | &1 g1\ : ~— - -
A : B = i
7_—F o (00) @ (%g)
B C D i 16. Science, Physics, Chemistry/faqm, wifast, @@=
/ .
| H E | 17. Doctor, Male, Artist/ ST, T&H, HEATHT
(a) 80° (b) 120° (c) 100° (d) 160° i 18. Organism, Human, Planet/ SicH A7, 1%
13. In the given figure, /XZT = 130°, PQ, RS and TU i 19. Gold, Ornament, Silver/ Fﬁm, g, wtat
are parallel. VW | | XY. Find ZVOP: ! 20. Bod . :
: 1 20. y, Hand, Finger/ ¥/ g9/ 3eH
& T Sl F, XZT=130°, PQ RS ATUTARR | oy oo 0 denicts relati
2 VW|| XY. ZVOP = ? | 21 ich of the following figures depicts relation
v X ! between the building material, cement and
P /7/ /Q i wood?
= /0O ¥ e | frafefed § @ S9-@ onea waa Fmtu aneE, dee
/ M //x i T g 1 T It 87
T. U i
/ /Z |
A | ®@)|e0)||am||@p
(a) 125° (b) 130° (e) 120° (d) 135° i @ ) © @ ©
14. From the following figure, find /RQZ if ~ RQZ i . . ) .
=2 Z/QRS and PQ || ST : : 22. Find the correct option form the given options :
& gt ¥ aft /RQZ -2 /QRS & PQ||ST 7& i Whlcl.l picture best (?eplcts reLatlon between
/RQZ =? : Jalebi, Sweets apq Edible goods?
: i f@ T faweat § @ fawow 94-
P | @W-w1 foa o, et T @ ang awgei & T
; Hafew €Y | HIAT 82
@ (b)OOO C(@K %
R i 23. Find the diagram from the given options which
(a) 20° (b) 30° (c) 40° (d) 60° i correctly depicts relation between Shark, Whale
1S. Inthe given figure, AB||CD, then X is equal to: i and Turtle?

At P & " TEY HT WE EUuT HIar 872
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SSC TEST 3
OO ) 7% 37 |l TR P TwA B S MR o 2
(a) (QQ) (b) Q)>> e ( O 5 (e) It depicts those singers who are not college
students

24. Which of the following figures depicts relation

between 28
e 9R hfadl B @ HiF-6 SR ;
(a) Sparrows (b) Birds

(c) Mice

&P 0@

(@) (b) (c) (d)

Direction (25-29) : Each of the questions given below are
based on the given figure. You have to assume the figure to be
correct even if it seems different form universally known facts.
Then decide which of the options given after each question
rationally follows this figure?

forder - it fomr Srem Ste S 4 9K Ui T SIented B
It S 1€ HIPHA Bl el AT BT T & A 8 UB WA
et & B wdla gt/ fie aa Bifore Iee 9o & 9IE kT e

el 2P
Singers ( nllnp.
‘\ILIR{\IH\

|‘|11u['\

25. Which of the following depicts such dancers
who are also singers but not college students?
T Tde it TEw it § fhg Frerw & fondf T R 5%
frafaraa § & ®F-91 g9Trar 82
(@) onlyC (b)Only A (c)Fand G(d) CandF
(e) Only B

26. Which of the following depicts such college
students who are neither singers nor dancers?
T TS & faenef st 7 @ TEw § M T & Tew 2
3= Tafafas ¥ @ -9 geriar 82
(a) Eand B (b) Only C
(¢) Band C (d) Only E
(e) Only B

27. Which of the following is true regarding C?
C & SR ¥ ffafad @ | &1 9 87
(a) It depicts all the college dancers
g s o Gl el gwiar ©

(b) It depicts such dancers who are neither college
students nor singers
T U el gl § S wrerst o faandf 76 8 ik Mo st
T 2

(c) It depicts all the college students who are singers
as well as dancers

g el o UH feeneff gwifar 8 S e off € oI Tde o @

(d) It depicts all those dancers who are also singers

31.

29.

30.

32.

33.

34.

3S.

TE I MEHT I U & S Flers F e T& 2

Which of the following depics those college
students who are only singers and not dancers?
frafafaa # & feed wee & @ famef € s dae
TS § 3R e & 87

(@) OnlyE (b)CandD (c)B,CandD

(d) Only B (e) only D

Which of the following depicts all singers who
are not dancers?

?ggrﬁaﬂﬁﬁﬁq-mﬁﬁmﬁmm%ﬁm
F &7

(a) E,Dand G (b) Only E
(¢c) Band C (d)Only D
(e)Dand G

In the diagram the number of those candidates
is given who passed in Chemistry, Electronics
and English, Total number of candidats who
appeared for the examination was 600. Find the
percentage of candidates who passed in at least
two subjects?

@ U I ydendal &t v §f wEt g, S fafti=
vigneit # T fowm, goeifent qon erisht § st
@, Than ¥ §37 gl @t d@ @ 600 o I
gaaren @1 gfava &= §, S #U-9-&0 o fawa o

3rgeitot gu?
T Ilutmlll>
)

: I-ngli.-\h
(a) 12.5 (b) 1.25 (¢)12.05 (d) 12
5, 8,13, 21, 34, ?
(a) 40 (b) 45 (c) 50 (d) 55
325, 17, 478, 39, 923, ?
(a) 29 (b) 30 (c) 28 (d) 40

Find that out to uncover the missing number ?
7 5 2 1 8 6 4 9

3 3 2 5
(a) 29 (b) 30 (c) 31 (d) 32

(e) None of these
If2+3=8 5+8=60

4+5=32 3 +7 =27 6 +7 =72
7+8=7?
(a) 98 (b) 99 (c) 100 (d) None

Complete the series: 16,06 ,68,88, 7,98
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4 SSC TEST

(a) L8 (b) L9 () L10 (d) L11
(e) none of these

In each of the following questions, various terms of an
alphabet series are given with one or more terms missing as
shown by (?). Choose the missing terms out of the given
alternatives.

36. A,B,B,D,C,F,D; H,E, ?,?

(a) J,G (b) J,H ©KH (@K]I
40. PMT, 0OS, NQR, MSQ, ?

() LUP  (b)LVP (0 LVR  (d) LWP
41. A,B,N,C,D,0,E,F,P,?,?,?

(@GHI GMGHJ (©GHQ (©JKL
42. GH, JL, NQ, SW, YD, ?

(a)E,F (b) F,G (e)F, 1 (d) J,F(e) J,K (a) EJ (b) FJ (c) EL (d) FL
37. 2,X,S,LR,R,?2,? 43. R,U,X,A, D, ?

(a) G,I (b) J,I () J K (d) KM (a)F (b) G (e H ()1
38. AYBZC, DWEXF, GUHVI, JSKTL, ? 44. AYD, BVF, DRH, ?, KGL

(a) MQORN (b) MQNRO (a) FMI (b) GMJ (¢) GLJ - (d) HLK

(c) NQMOR (d) QMONR 45. AZ, CX, FU, ?

39. T,R,P,N,L,?,? (a) IR (b) IV (c)JQ (d) KP
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